@ Narita works part time on Saturdays. The graph below shows the relationship between the
number of hours Narita works on Saturdays and the total amount of money she earns.
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a. What does the point (4, 36) on the graph represent in this situation?
b. What does the point (0, 0) on the graph represent in this situation?

c. What is the amount of money, in dollars, that Narita earns for each hour she works?
Show or explain how you got your answer.

d. Write an equation that could be used to find 7, the total amount of money Narita earns for
working 4 hours.



